F2RNEHBLHRSET S VEHBRREE FEREFRUBEBR

W

&E 3-2 J

EABRE] BaH

s _ RIRTE SRAB1E BiE
N g B =
: THOTEE | WH2OHE | THE0EE | TMa3EE
TRENTEIE, BEREETINETENSEZT
(HBIBERINBES) CRUTDHROBS 57.6% 586% 587% 65.0%
(RX+EBSNENZIERAT) XMEHBE P VT —FKD
B |t R ERnBIc BN TBUNTETHIER LT DSHROES 388% 50.0%
=
g
B | xEEsoncsn\ TBLNTETHIERU T DSHROES 31.3% 35.0%
MERICEIND RS, £ENFH OB - FRETEERDFNLTETRE
PG CEZBEROES (EROH) 61.4% 70.0%
1 |BLLRSECET BTHERZDSHEY BEE 1724 348A 202A 210A
3 |BuEsECET ZRBEAMY pg|e 321 478 451 40f8
5 |ButEsEHEELRISOERIEN BHEE 14 2 2t 24
"
E REYHER 106A OA
2| 7 |BaoAEERDR-RERE - HEERSOTERLSHEEYR 6OA 160A
FREER 60A 53 A
9 |BUHBSEDREICOENBARETHEEZDIESH EE 41 A 55A 82A 50A
10 |BLOMEEBD B S CAITARNBNEI T —S0OSHEH | AE - BOTES 6OA 227 A 42 A 80A
BEARBEL BENHH(CsEIDHEDILD
o _ RIRTE RIEIE Bi%E
N g B 19458
: THOTEE | TH2OHE | THG0EE | TMI3EE
BHT—B (TB) ORBEHEE™N 2< LTLVEN [B0D%E
EOBUERROSIS S 400%
% FARTHRICRITBLEXEDES 1.1% 1.7% 2.8% 5.0%
8 ) 80%
E |mssscsrzatos 8278 80% 80% 30.0%
EFEZFSOLMEDSER 31.1% 302% 31.3% 350%
12 |1¥% s IVBZEDEMSNEH ERISER 42 N 40N 53 A 60A
B | 17 |EEmEscsTsaEErEanss Bh ST 1.6% 1.4% 1.4% 25%
=]
= i
iz | 19 [ZEAMNYDDERES BIHERER EIN 2N 2N 8A
20 |tz B BRASOY <§%%§§ 8 7 8 4




EABREZN

TS EAFOFMOEIRCTEIREDIID

- BIRE Ei51E Si2iE
No 18 =3 RS
: THOTEE | THOOEE | THIOEE | TMISEE
2L TP ETHTEBESERSHROES
. (B EBONENIERS)  SRBEEP YT — ki) 787% 83.1% 81.6% 84.2%
R | smaEosErC BT SRR iy '98094; 10.0% 11.9% 300%
E — - A (o] R (e} A (o]
e
D=2+ 5140 « NSYRICDNTEEDRNS L TH > CNIHRDEIS 19.2% 35.0%
21 |zBTHR—S—DRBEY stz | 1957A | 1787TA | 1997A | 3000A
20 | & - 9HE - BECECEZOAT @) B8 REwkER| 1851A | 1851A | 1826A | 1,760A
25 |mupmEEsSTOARES wBEGER | 474A 633A 655A 650 A
"
E 29 [0—5 547 - NSYRICHT BERREDY EES - o@ o@ oF
30 [D=2 - 547 - NSYRICHT BEEFHHERSOBEDS EES - o@ 3@ 2
33 |BurEsECET sTRAFEROSHEY e KEHE 545 141 A 300A
36 |BHmHEORESHEREYREES HERERKEOSES wre 75% 66.7% 66.7% 100%
HEABREN HEHNTMWNUTESTEIHEDILN
o IRINE et ] BigE
No 8 Z 182438
: PHOTEE | THOOEE | VMSOEE | TMI3EE
(57
§ %%%gﬂg}b cNSRAXYRCDNWTEEDORBSE T > TL\D 781% 85.0%
12
=
‘S 49 |NS2AY HCET B PRAEADSBEL wie 149N 48 465N 300A
12
BEABEV BEESFICXIITDIRIDEBENHEDLD
s RIAME =i51E 51
No 18 = EEES
: PHOTEE | THOOEE | WHMIOEE | TMISEE
B |DVICDWTCEEOASETH>TNBIHROES T47% 85.0%
2
8 s R (B = = -
& |DVESESUCEC (HEUR) UERUESEREORN SR - 05
) BDVHSTIEEYS—D [DVEABLNESEL) & N . . .
F;é 51 ERL T DD PRYBR 2R 3R 3R 48
8 P gz
iz | 52 |pvesssEtHaREAOSBES ﬁg%ﬁgi 58A 25A 40A 60A




